Matt (199 Dorecer ?M 67;,2@0&%1%37“%4450 /@/2@

a.
F () = St (ox)

|
D: (oo, ex) (rohictd [T, "% - £ 1)

R:[-1 11

V= 3 dr = K= Sav) = 2

ECYEP

Fr(x) = ,;va s~ () o Favear ()= Fex)

D: E"”;,_]
E: ["Ty‘f:_’y‘f]

: é’&)zjwozx

D: (- 09, &) (Mﬁn'c;&:a/ [o Tl )

R 1-%3%]

y = BewoX = K= 3ceoy = 3

= choy y:cm“’(—’-—g

&) = coo” (3) = aurceno (§)

D: L"'%j‘sj '
2. Lo, W]

ERTTRNVRICE D

b (o0, 00D (reohetad  LTTenmy Vatmi] = [T, 3%0

e (-#4]

y= 4 s, (x1t) = =Y s (y-w) > "b‘(*MCV ) =

s (§) =y = sa (%) o

H(- m*’@-)ﬂr = frctue (5 ) +T0

Y



Comtof | (
PLAT ol e o
- TR = 5 fan(x) |
Piox# @O (eites (7 iy
R (-9, 00)
V= Stnt S X = Sy o %= oy 5 4t (R)- =y

TUx) = e ()= duehon (%Y
D: (- o0, 00) R: ", ™)

" ks =300t (20

D: X # %r (rmh«‘dij (O, ) = (‘%“77))
< (""M) D‘Q)

7N = = 3 pf(2x) D X= -3 CF(2y) = -:?.5 = cot (2y) >
Cot(E) »27 = Lc,or'(_P Y
KR = kot \'( 2) = “dacest (%)

LD (e 0D R: (o, Y
FolUx) = Tsee (x+1)
< oy -1l [, 10> [= 1.TVL?—1:7:)(‘:7)7.(I"7;-‘\;]
\/:75,&@()(‘{—!) => X = q&bc(y-(-l) => ?é:ﬁ-b(_(yﬁvl) =)
Seet(f)= Yt = Sec! (¥)- [=y
L"J(X) See” (") [ MM(X)-—I
- D (~0,~910 9, 0) g TCuva-du



L M(¥) = -Qese (x) +) e

. T
Dix# Zr = 5 ( reshricted
Rt (oo, ~20 v [2+41, 00) = (‘%J 0)u (o, ) -
(—e0,=17] U [3, &) [qu) o) u (0, %)

i~ QCSC/(’LIFF%HI S X= éLc,sc.(—“tTrﬁ\ﬂ— | = Y| = G ()
%C“é(“g =iy D ‘:;TT" csc” ‘(;c )

—1{ - — 1 _
M (X3 - a7 (e ,()Vl\ = —LT_T( dnccse ;CX“)
D‘- ("50/”’] U [5' DQ\

fZ[ | ‘[‘yglo)k)(.a/'/ﬁ)
(/(. N) = - st (TTK) =3
s G e SR S
) _

Yﬁ“mtn‘?«) -2 > x= S (-ny) - 3:> X+3 = Sea(-my )
A4 = -y 2 TR SeT (KB 7Y
N7 () = ~7F sin”'(%t3) =~k awcsad (k43
D [y, -27 -, ]
PO 4 con (- x->) -0
Dl (-00,00)  (reotnelad [0-3T, TWATe] - [*%,*%QS
Ko, 27

V=lcns (k- 3%) -3 2 1= Hewe (9 72) 72 D xad = Yeaa [y-7T)
= ’%“r-;cmc—y- ) > ot () - = 00 () 3
= \/ — -«31173__, amu(x+>> —\{




L Cont A | @
P = 3o - 0007 (57) - I —pucean (527
B [ ~BT D.i:l-627 |
J AWM = — o 69 + vy
D: @i“%’*l%r,t,x /Mofm&t’// ("Wa,TV}\\
R (-00,00)
Y = — K A T%f = A=- my t Wy = Q("Wq)‘:“"d./w("ﬁ\
.{,;_'(&-%)=-7 = ﬁ:wM‘LX‘rV‘-()
Q%) = ~F () = = auedan (X7 )
D (-0, 09) R T, s
k. R(x) = aveson (foxt1) i [-4,61 R 74, %)
V= s (ox ) P K= avcaa (Joy +1) = Faix =y
A T I B A R R
D! (- e 00 2:[“"‘{,01
(reohncted B, 7))
L. S = —areca, (x-2) ¢

D L(rg—l Q. [W\ '?,TS'.]
Y= —anmccon(XK=-2)4T = x =

= Qcesan (Y=z) +r = X=TT=-Gurcasly )

— RATT= MC&OO(\,--J_L)='> C,Op(—x%n)“-‘\,—& = N = QQ/)("K*‘T\'}-\—-;.
D: (=09, 00> | R[] 3] ST tan-xrmyea
(o hictrd [o+M) Te0]) = [m2m



M Tl = avetan (x) + &
DTC"M;W) . [‘“72*\-1) o |

y=W&MX +/ =?» X;Mcﬁnm?—r/

= X-l= M(mg = -km\,(x—x)-:y

D: (et T 7 X% @;—M'c;tz.ﬁ ("ot 1, 17, 4 D )

T—lCX) = -Izl/w()(-1>
. (- 69, o)

n. MJ(()Q) = arcceot

(2x—1) + Ty

D 0,%0) R (Fa, 37D

Y= aveest (dx—) 15 x = &/vc,c,of—CSy—u)}-f Tr = X-Ts = dJ’CCOf'C?‘t)
=7 Cot (A2 = 3Y=1 = (of (x-T5) = By = s st )y

O b eat oy *

D Xz KOy
B (-eg o)

0. VC)(,) = QviSec
D: C«@O; ';-]

V= arvesee (~x-1)

To  lreiazs (009, Tm) = (7, 3
|

(=x=1)~ Wy |

vlo, 00) R L7370 (%, 5]

tUY = X o= dwe Sec (~y 1) *TWy =S
|

X= T = goeseeldy=1) = Qe (h=Ty) = -y-|
Mx-—%)ﬁwy = Vs —Sec (X~ Ty)— |

VUK = —Sec (x= ) |

ﬁfq;

DA% @, (reonicke) [, Yo (%, 1) =

. (“001;9] U

| T, 39y O (3, Sy
. (T, ¥90) Q)



P W = Vg avcese (Yo X)
‘D'- (-(00,—2] © CZ/ (>0> "R L"—VS‘{,O)U (OITVQ—K

1> Mavecse (52x) > ks flowcce (i) = Uy = awccsc ¢
S sy = '/97 = A Csc Yy =y
W (x) = 2cse 4x
D: x# I reotmictsd (['f%,o) LCoTTy]
R+ (~00,-2T70 Lz, 0) = 7= 0) 00, 'Vs;})

'/:-7)

©



